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Review: PC Quiz Sec2.1-2.3
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1) Evaluate h(-5) to the nearest 2) Evaluate f(x) to the nearest

tenth if h(t) =t + t?—t +5. hundredth if f(x) = -x> —x + 31.
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3) If f(x) = -8x*+ 7, what is f(3a)? 4) If g(x) = 9x? + x — 2, what is g(4b)?
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5) Below is a graph of f(x) = 2¥+ 3. The line y = 3 is a horizontal asymptote. Give what seems to be
the domain and range of the function.
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6) Below is a graph of f(x) =-3*—1. The line y =-1 s a horizontal asymptote. Give what seems to
be the domain and range of the function.
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7) Draw an example of a graph that is a function. 8) Draw an example of a graph that is NOT a
Explain how you can tell from the graph that it function. Explain how you can tell from the
is a function. graph that it is NOT a function.
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9) Sonia researched the number of fast-food restaurants in her city in several years and recorded
the data in the table below.

Y
a?";:f Nur:fber a) Find the linear model for the relationship
2000 | Restaurants between the number of years after 2000 and
the number of restaurants. % Few—t 4~
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4 48 b) Use your model from Part a to estimate the
®5 23 A number of restaurants 10 years after 2000.
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c) Is your estimate from Part b interpolation, or extrapolation? Explain.

Lezs  bemped  Scope of  dedmy 17T pTes.

d) Givera datavalug for/the year that would be ¢onsid dintf’érpo@tio, .
Give a data vdlue\for the yearthat'\would¥be considered-extrapolation.

A:‘ii) Calculate the residual for the #5™ year after 2000. L= Ols - fred
Nz CaAW[5) +2L¥5F - 5% -~ <SS, 427
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,@ 4) What is the sum of the squared residuals for the data?
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